
Multiply by Negative Powers of Ten (E)Find each product.
6 × 10⁻¹ = 10 × 10⁻³ =
53 × 10⁻¹ = 60 × 10⁻² =
94 × 10⁻² = 24 × 10⁻² =
45 × 10⁻³ = 4 × 10⁻² =
8 × 10⁻¹ = 98 × 10⁻¹ =
37 × 10⁻³ = 82 × 10⁻² =
8 × 10⁻¹ = 78 × 10⁻² =
82 × 10⁻³ = 8 × 10⁻² =
52 × 10⁻² = 19 × 10⁻² =
77 × 10⁻³ = 96 × 10⁻² =
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Multiply by Negative Powers of Ten (E) AnswersFind each product.
6 × 10⁻¹ = 0,6 10 × 10⁻³ = 0,01
53 × 10⁻¹ = 5,3 60 × 10⁻² = 0,6
94 × 10⁻² = 0,94 24 × 10⁻² = 0,24
45 × 10⁻³ = 0,045 4 × 10⁻² = 0,04
8 × 10⁻¹ = 0,8 98 × 10⁻¹ = 9,8
37 × 10⁻³ = 0,037 82 × 10⁻² = 0,82
8 × 10⁻¹ = 0,8 78 × 10⁻² = 0,78
82 × 10⁻³ = 0,082 8 × 10⁻² = 0,08
52 × 10⁻² = 0,52 19 × 10⁻² = 0,19
77 × 10⁻³ = 0,077 96 × 10⁻² = 0,96
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